FTTIF B ". ."
[7775 {y/press s W‘H il M.

@ @ @ @ @ @ ApanTtepa, akceccyapbl

mﬂ_mm-ﬂ-

CrtpaHnuua / Page

1750 1770 1860 1870
Union Reducing Union Union
Connector
CrpaHuua / Page 4

[ .

il i

| e 1
M608 M605 1500 1570

Metric Female Plug Male Plug Weldable Banjo Eye Threaded Banjo Eye

Swivel M Metric Metric - Metric Socket Metric - Metric

Crpanuua / Page 7 7 5

P r‘\’H
d
1600-00 1600 1650
BSP Perfored BSP Perfored Metric Perfored
Bolt Bolt (Double) Bolt
CrpaHuua / Page 9 8 8 9
E Ir | Il m
1 ._E s 3 |
h ST, N — s
1550 1450 1550 1580
Threaded Banjo Eye Weldable Banjo Eye Threaded Banjo Eye Threaded Banjo Eye
BSP - Metric BSP - Metric Socket BSP - BSP BSP - DIN 24°

Crpanuua / Page 10 1 12 13-20

OO O==

RGO00 - RM00O RB00 - RBMO RBMA - RBGA

Copper washer Bondend Seal Self-cent. Bonded Seal Seals for adaptors and
fittings

BSP - Metric BSP - Metric BSP - Metric

CrpaHuua / Page 21 21 22

= =

BOXG-BS-70 BOXH-MS-70 BOXBG
O-ring NBR 70 shore O-ring NBR 70 shore Habop ABYXKOMMOHEHTHbIX YNNOTHUTENbHbBIX konew, BSP
British standard Metric standard BSP - Self-centering bonded seal kit

Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

1-H



it ypres || ST — | 1T MM

1750

1770

KOHHEKTOp MeTp1uUYecKui HapyXHble pe3b(

Metric male connector 60° cone

part number

1750-10-10 M10 x 1
__——

1750-14-14 M14 x 1.5 _
__——

1750-18-18 M18 x 1.5 _
__——

1750-22-22 M22 x 1.5 _
__——

1750-26-26 M26 x 1.5 _

PeayKUMOHHIA MeTpuUyecKkun agantep, Kot

Reducing Metric Niple 60° come

part number

1770-14-12 M14 x 1.5 M12x 1.5

1770-16-14 M16 x 1.5 M14 x 1.5

1770-18-16 M18 x 1.5 M16 x 1.5

1770-22-18 M22 x 1.5 M18 x 1.5

Fluid Power Care

IMM Group



it ypres || ST — | 1T MM

1860 KoHHeKTOp HapyXHble pe3b6bl B!

BSPT male x BSPT male connector

part number

1860-02-02 1/8 28
__——_

1860-06-06 3/8-19
__——

1860-12-12 3/4-14 _
__——

1860-20-20 1.1/4-11 _
__——

1860-32-32 _

1870 KoHHeKTOp HapyxXHble pe3b6bl NI

NPTF male x NPTF male connector

part number

1870-04-04 1/4 18
__——_
1870-08-08 1/2-14
__——_
1870-16-16 1-11.1/2
__——_
1870-24-24 1.1/2-11.1/2

Fluid Power Care 3-H IMM Group



i ypres | ST | 1T MM

M608

M605

3arnyuwka meTpuyeckas, KoHyc 60°HakMgH:

Metric 60° swivel female plug

part number

M608-14 M14 x 1.5

M608-18 M18 x 1.5

M608-26 M26 x 1.5

3arnywka HapyxHas pe3bba

Male Plug

part number m-

M605-10 M10x1
______
M605-14 M14x1,5
______
M605-18 M18x1,5 12 20 24
~ Meos20  mM2xi5 14227
M605-22 M22x1,5 14 22 27
~ Meos24  M2xi5 14230
M605-26 M26x1,5 16 24 32

Fluid Power Care

IMM Group



it ypres || ST — | 1T MM

1650

BonTt nonbin MeTprU4eckumn

Metric perfored bolt

part number

1650-00-10 M10 x 1
______
1650-00-14 M14 x 1.5
______
1650-00-18 M18 x 1.5 37 44 24
- 16500020  M20x15 38 4627
1650-00-22 M22 x 1.5 38 46 27
- 16500026 M26x15 47 86 32
1650-00-30 M30 x 1.5 58 68 36

Fluid Power Care

IMM Group



it ypres || ST — | 1T MM

1500

1570

MpuBapHOW MeTpUYeCKMN baHaX

L

Weldable Metric Banjo Eye

raribBaHU4ecKoe NnokKpbiTue: 6e3 OLMHKOBKM F
surface treatment: without zinc plating -

part number

1500-08-05 M8x1

1500-12-08 M12x1,5

1500-14-10 M14 x 1.5

1500-16-12 M16 x 1.5

1500-18-14 M18x1.5

1500-20-12 M20x1.5

1500-22-16 M22 x 1.5

1500-26-20 M26 x 1.5

BaHpxo meTpuyecknin pesbb6oBoI L

Metric threaded Banjo Eye

part number

1570-14-14 M14x 1.5 M14 x 1.5

1570-22-22 M22 x 1.5 M22 x 1.5

Fluid Power Care 6-H

IMM Group



i ypres | ST | 1T MM

1600-00 BonT nonbi BSP

BSP perfored bolt

part number

1600-00-02 1/8"-28
______
1600-00-06 3/8"-19
______
1600-00-10 5/8"-14
______
1600-00-16

1600 [OBowHou nonbi 6ont BSP

BSP double perfored bolt

- -

part number

1600-04-04 1/4"-19

1600-08-08 1/2"-14

1600-16-16

Fluid Power Care 7-H IMM Group



it ypres || ST — | 1T MM

1550 Banaxo pesb6oBon BSP

BSP threaded Banjo Eye

part number

1550-04-04 174 1/4-19

______
1550-06-06 38 3/8-19 38 17

- 1550-06-08 8 214 28 2
1550-08-06 112 3/8-19 30 22

- 1550-08-08 12 214 32 2
1550-12-08 3/4 1/2-14 47 29

- 155041212 ¥4 ¥4 88 29
1550-16-12 1 3/4-11 45 28

1450 Bangxo npusapHoin BSP

Weldable BSP Banjo Eye

raribBaHU4ecKkoe NnokKpbiTue: 6e3 OLMHKOBKM
surface treatment: without zinc plating

part number

1450-04-06 1/4-13.5

1450-04-10 1/4-13.5

1450-06-10 3/8-16.7

1450-08-15 1/2-21

1450-12-20 3/4-26.5

1450-16-27 1-33.3

Fluid Power Care 8-H IMM Group



1550

1580

Pe3bb6oBoun 6aHAXO L

Threaded Banjo Eye

part number
1550-04-14 M14 x 1.5

Pe3bboBon 6aHAX0, KOHYC 24° L

Threaded Banjo Eye 24° cone

part number

IIIIIIIIIIIIIIIJIIIIIIIIIIIHIIIIIII
1580-06-18 3/8 M18 x 1.5
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1580-08-18 12 M18 x 1.5

Fluid Power Care

IMM Group



it ypres || ST — | 1T MM

RMO00 LWan6a megHas MeTpuueckas

Metric copper washer

RM00-06

RM00-10

RM00-14

RM00-18

RM00-20-26

RM00-26

RM00-30

RGO0 LWan6a BSP megHas

BSP copper washer

RG00-02 G 1/8"

- Re0004  GwAe
RG00-06 G 3/8"

- Re008 G2
RG00-10 G 5/8"

- Re002 G
RG00-16 G1"

~ RG0020 Gt
RG00-24 G1.1/2"

Fluid Power Care 10-H IMM Group



it ypres || ST — | 1T MM

RBMO

RBO0O

LWanb6a meTannope3nHoBasi MeTpu4ec

Metric Bonded Seal ‘ |

part number

IIIIIIIII!IIIIIJIIIIIHII
RBMO0-05
IIIIIIIIIIIIIIIIIIIIIIIIIII
RBMO0-08
IIIIIIIIIIIIIIIIIIIIIIIIIII
RBMO0-14 M14
IIIIIIIIIIIIIIIIIIIIIIIIIII
RBMO0-18 M18

LWanb6a metannopesnHoBas BSP

BSP Bonded Seal

part number

IIIHIIIIIIIIII[IIIIIEIII
RB00-02 G 1/8" 14,0
IIIIIIIIIIIIIIIIIIIIIIIIII
RB00-06 G 3/8" 23,9 2,0
- RBOOOS  G12r 287 20
RB00-10 G 5/8" 31,8 2,0
- RBOO2 G4 360 20
RB00-16 G1" 42,9 25
- RBOO20 G114 525 25
RB00-24 G1.1/2" 58,7 3,2

Fluid Power Care 11 -H

IMM Group



Il imimm.

RBMA Bonded Autocentranti Metrici

Metric Self-centering Bonded Seal

RBMA-04
RBMA-08
RBMA-10
RBMA-12
RBMA-14
RBMA-16
RBMA-18
RBMA-20
RBMA-22

RBGA Bonded Autocentranti BSP

BSP Self-centering Bonded Seal

part number

RBGA-02
RBGA-04
RBGA-06
RBGA-08
RBGA-10
RBGA-12
RBGA-14
RBGA-16
RBGA-20
RBGA-24
RBGA-28
RBGA-32
RBGA-40

T —
D[ op [ d4] d5 | s |
4,50 7,00 540 3,30 1,00
8,70 14,00 10,40 6,40 1,00
10,70 16,00 12,40 8,05 1,50
12,70 18,00 14,40 10,20 1,50
14,70 22,00 16,40 11,38 1,50
16,70 24,00 18,40 13,41 1,50
18,70 26,00 20,40 14,76 1,50
20,70 28,00 22,50 16,76 1,50
22,70 30,00 24,40 18,74 2,00
[ op [ d4] d5 | s |
10,37 15,88 11,84 8,26 2,00
13,74 20,57 15,21 11,18 2,00
17,28 23,80 18,75 14,76 2,00
21,54 28,58 23,01 18,24 247
23,49 31,75 24,97 20,27 247
27,05 34,93 28,63 23,83 247
30,81 38,10 32,29 27,51 247
33,89 42,80 36,88 29,92 3,40
42,93 52,38 45,93 38,45 3,40
48,44 58,60 51,39 44,45 3,40
54,89 69,85 58,30 50,42 3,40
60,58 73,03 63,63 56,26 3,40
76,08 90,17 79,38 71,50 3,40

Thread

M4
M8
M10
M12
M14
M16
M18
M20
M22

oD

n

—

d5
d4

oD

“EH

ds J

d4

12-H



it ypres || ST — | 1T MM

AnacTtomepHoe ynnoTHeHne ansa wryuepa Metpuka/BSP (DIN
3852 ®opwma E)

Elastomeric seal for Metric/BSP Male d7
(DIN 3852 Form E) ‘

L6
LS

according to: DIN 3869

filettatura
Codice Size L5 | L6 [ Metica [ BSP |

8-E10 11 9 0,5 M10x1 1/8"-28

8-E14 1,5 0,8 M14x1,5 1/4-19

8-E17 1,5 3/8-19

8-E20 1,5 0,8 M20x1,5

8-E22 1,5 M22x1,5

8-E33 M33X2

8-E48 4,7 50,7 M48x2 1.1/2-11

YnnotHuTenbHoe Konbuo Ans metpu4yeckoro wryuepa (ISO

6149)
O-Ring for Metric Male (ISO 6149)

d2

di

i~

according to: 1ISO 6149

filettatura
rif. USA [ rif. INGLESE| d1 - @mt

8-8.1X1.6 M10x1
_______
8-11.3X2.2 M14x1,5
_______
8-15.3X2.2 M18x1,5 18
_______
8-23.6X2.9 M27x2 27
_______
8-38.6X2.9 M42x2

Fluid Power Care

13-H

IMM Group



HHH_VPES f,’: = Miscellaneous-Adaptors ’” T MM,

YnnotHutenbHoe Konbuo wryuepa ORFS

O-Ring for ORFS Male

I
|
- AL -
. A8 di o

according to: SAE J515

Codice rif. USA  |rif. INGLESE| d1 -@int. | d2-corda |  UNF | dash |

8-107 2-11 2031 7,66 1,78 9/16x18 06
_______
8-2050 2-14 2050 12,42 1,78 13/16x16 11
_______
8-2075 2075 18,77 1,78 1-3/16x12 14
_______
8-2118 2118 29,87 1-11/16x12 21

YnnotHuTtenbHoe KonbLuo KoHyca BSPP

O-Ring for BSPP cone

d2

Al | P
W s, £
Filetto BSPP
Codice rif. USA  |rif. INGLESE| d1 - @lnt d2 - corda

8-5.5x1 1/4-19 04

_______
8-11.1x1.6 1/2-14
_______
8-15.1x1.6 3/4-14
_______
8-2112 -24 2112 1.1/4-11 20
_______
8-2-32 2-32 2187 47,37 1,78 2-11

Fluid Power Care 14 -H IMM Group



YnnoTHUTeNbHOE KOMbLO MeTpuka KOHyc 24°

O-Ring for Metric 24°

d2

i . m—
;—H dl

g a2 | ]
rif. USA | rif. INGLESE corda DKOL DKOS

8-4x1.5 1,5 M12x1,5 M14x1,5
8-6x1.5 6 1,5 M14x1,5 M16x1,5 8
8-7.5x1.5 7,5 1,5 M16x1,5 M18x1,5 10
8-9x1.5 9 1,5 M18x1,5 M20x1,5 12
8-10x2 10 2 M22x1,5 14
8-12x2 12 2 M22x1,5 M24x1,5 15-16
8-15x2 15 2 M26x1,5 18
8-16.3x2.4 16,3 24 M30x2 20
8-20x2 20 2 M30x2 22
8-20.3x2.4 203 24 M36x2 25
8-26x2 26 2 M36x2 28
8-25.3x2.4 253 24 M42x2 30
8-32x2.5 32 2,5 M45x2 35
8-33.3x2.4 333 24 M52x2 38
8-38x2.5 38 2,5 M52x2 42

YnnoTHUTEeNnbHOE KONbLIO HUMNMNensa ¢ HaKNAHOW ramkom
"Karcher"
O-Ring for 'K' female

—  —

rif. USA  |rif. INGLESE| d1 ant d2 - corda Filetto Metrico

8-10x2 M22x1,5

a2

YnnotHuTenbHoe KonbLo NnucToneTHoro wryuepa "Kiarcher"

O-Ring for 'K" insert (for gun)

l L. dl |
rif. USA rif-lNGLESE d2-coda ] |

8-105 6,07 1,78

a2

=

15-H



i ypres | ST | 1T MM

Retaining Ring

YnnotHutenbHoe Konbuo wryyepa BSP (ISC R
O-Ring for BSP Male (ISO 1179-3) _"]\!_\*__ ,
\_D Ring

dz2

=]

according to: 1ISO 1179-3

Filetto BSPP
Codice rif. USA  |rif. INGLESE| d1 -@int. | d2 - corda

8-8X1.88 7,97 1,88

1/8-28
_______
8-118 2-113 3056 13,95 2,62 3/8-19
_______
8-3093 2-119 3003 23,47 3/4-14 12
_______
8-37.69X3.53 2-222 4150 37,69 1.1/4-11

YpepxuBarowee konbLo wryuepa BSP (ISO 1179-3)

Retaining Ring for BSP Male (ISO 1179-3)

. D2
‘ | D1

according to: 1ISO 1179-3

Filetto BSPP
Codice dl -@int. d2 - Gest.

8-R15X1.4 12,20 15,0 1/8-28
_______
8-R23.5X1.9 19,50 235 3/8-19
_______
8-R34.5X1.9 28,60 345 3/4-14
_______
8-R52.5X2.6 44,90 1.1/4-11

Fluid Power Care 16 -H IMM Group



it ypres || ST — | 1T MM

YnnoTHUTenbHOE KOosnbLO MeTpun4yeCcKoro T

O-Ring for Metric Male

|
-
I
L dr |
Codice rif. USA  |rif. INGLESE| d1 - @ int. d2 - corda
8-8X1.8 M10x1
8-11.3X2.2 M14x1,5
8-3062 15,54 ,62 M18x1,5
8-23.47X2.95 23,47 M27x2
8-38X3.5 M42x2

YaepxxuBaroLiee KornbLO MeTPpUYeCcKoro wryuepa

Retaining Ring for Metric Male

D2

Filetto Metrico
Codice d2 - gest.

8-R14.8X1 14,8 M10x1 10
_____
8-R19.8X1.3 M14x1,5
_____
8-R23.8X2 M18x1,5 18
_____
8-R32.8X2 M27x2 27
_____
8-R49.8X2 M42x2

Retaining Ring

Fluid Power Care

17 -H

IMM Group



HHH_VPES f,’: = Miscellaneous-Adaptors ’” T MM,

YnnotHutenbHoe Konbuo wryuyepa SAE Male (ISO 11926)

O-Ring for SAE Male (ISO 11926)

d2

dl

- s

according to: 1ISO 11926 - SAE J515

Codice rif. USA  |rif. INGLESE| d1 -@int. | d2-corda |  UNF | dash |

8-8.92x1.83 8,92 1,83 7/16x20
_______
8-11.89x1.98 11,89 ,98 9/16x18 06
_______
8-19.18x2.46 19,18 2,46 7/8x14
_______
8-29.74x2.95 29,74 1-5/16x12

YnnotHutenbHoe Konbuo cdnaHua SAE J 518 (3000 PSI v 6000
PSI)

O-Ring for SAE J 518 Flange (3000 PSI and 6000 PSI)

|
AL -

dl

according to: SAE J515

rit. USA__|rif. INGLESE

8-4075 2-210 4075 18,64 3,53
_______
8-4131 2-219 4131 32,92
_______
8-4187 2-225 4187 47,22 1-1/2
_______
8-4275 2-232 4275 69,44 2-1/2 40
_______
8-4387 2-241 4387 98,02 3-1/2

Fluid Power Care

18 -H

IMM Group



GPPO

Polyurethane seal for SAE J 518 flange (3000 PSI and 6000 PSI) and

'Cat' flanges

1 [

]

@ oD

XapakTepuCcTUKu:
e CTtaHaapTHbI maTepuan:Pud1 - Cunnii nonuypetaH 93, kpennexue A

e MakcumarnbHas Temnepartypa: - 30°C + 100°C

e MakcumanbHoe paboyee nasnexue 610 bar

e Xopoluas abpa3mBOCTONKOCTb

e OuyeHb BbICOKOE COnNpoTUBNEHUe BbITATMBaHUIO

e Habop Hu3koit komnpeccumn

® YNnoTHALas NOBEPXHOCTb obecneynBaeT o4eHb XopoLune ynnoTHUT!

o [puMeHsieTcst ANst KOHeYHoM 06paBoTky rpyGol NOBEPXHOCTU

Pa3smepbi / Dimension
ApTukyn

Part number.

GPP0-08
GPP0-12
GPP0-16
GPP0-20
GPP0-24
GPP0-32

NonuypetaHoBOe ynnoTHUTeNbHOE KOMbLO dnaHua
SAE J 518 (3000 PSI n 6000 PSI)

Features:

e Standard material: Pu41 - Blue polyurethane 93 shore A

e Max temperature: - 30°C + 100°C

e Max working pressure 610 bar

e Good abrasion resistance

e Very high resistance to extrusion

e Low compression set

e The sealing edge offers a very good sealing functions

e Usable for rogh surface finish

| size [ 0D | s | T |

1/2"
3/4"
1"
1"1/4
1"1/2
on

Pa3smepsbl

Dimension
25,5 3,8
31,8 3,8
39,6 3,8
445 3,8
53,8 3,8
63,4 3,8

PekomMeHpaumm no ycraHoBke SAE
Installation SAE recommendations

1"1/4
1"1/2
on

32
38
51

25,40 - 25,83
31,75 - 31,88
39,62 - 39,75
44,45 - 44,58
53,72 - 53,98
63,25 - 62,50

2,79-2,92
2,79-2,92
2,79-2,92
2,79-2,92
2,79-2,92
2,79-2,92

3.4
3.4
3.4
3.4
3.4
3.4

3,94 - 4,45
3,94 - 4,45
3,94 - 4,45
3,94 - 4,45
3,94 - 4,45
3,94 - 4,45

YctaHoBO4Hble pa3mepbl SAE
Installation SAE dimension

NN

iy

N

NN

N

DM —

T

v




Y I eoussAdapiors.—— 1@ T
L .'I SRR N .AWE . AWE.

s

CrangaptHble ynnoTtHeHus wuaroTaBnmeatoTcs u3 NBR 70. Mo 3aka3y BO3MOXHO
narotoerneHue n3 NBR 90, EPDM n FPM

Standard seals are supplied in NBR 70. On request even in NBR 90, EPDM and FPM

CpaBHeHWe HeKOTOpPbIX MapamceTpoB 3r1acToMepol
Comparison between different features of elastomers

XapakTepucTukm Matepwnan / Materia
Features
NBR FPM EPDM

KomnpeccunoHHsIi Habop 1 1 3
Compression set

YCTONUYMB K U3HALLMBAHMIO 2 2 3
Resistance to tearing

ABpasnBoyCTONYMB 2 2-3 2
Resistance to abrasion

YCTOMUMB K CTapeHUto 4 1 2
Resistance to ageing

YCTONYMB K BUSHUIO 030Ha 4 1 2
Ozone resistance

YCTONYMB K BO3OENCTBUIO Macramu Unm cMaskamm 2 1 5
Resistance to oil and greasy

YCTONYMB K BO3AENCTBUIO FOPHOYNMU KUAKOCTAMM 4** 2%* 5
Resistance to combustibles

YcTonums k Bo3gencTeuio ropsaden sogo (°C) 80** 80** 130
Resistance to hot water (°C)

YcToitumB k Bo3geiicTeuio napom (°C) - - 130
Resistance to steam (°C)

YCTO4MB K TEMNOBOMY BO3AEWCTBUIO, CTaHAapTHbIN MaTepuan (°C) 100 200 130
Resistance to warmth standard materials (°C)

YCcTonumB K TennoBOMy BO3AENCTBUIO, crneunanbHbii MaTepuan (°C) 120 - -
Resistance to warmth special materials (°C)

YCTOYMB K BO3OENCTBUIO MUHYCOBOI TeMNepaTypbl, CTaHAapTHbIN I -30 -15 -45
Resistance to standard materials low temperature (°C)

YCTONUYMB K BO34ENCTBUIO MUHYCOBOW TeMnepaTypbl, CeunanbHbIi | -50 -35 -

Resistance to special materials low temperature (°C)

o603HauveHue:
legend:

1 - OTnunyHo/ 2 - Xopotwo / 3 - CpegHe / 4 - Mnoxo / 5 - Cna6o
* - KOpoTKast AnuHa / ** - HaunyyLmne nokasaTenu B NPUMEHEHUM TOMbLKO CO CrelmanbHbIMY MaTepyanamm

1 - Excellent/ 2 - good /3 - medium/4 - low /5 - weak
* - short lenght / ** - best result only with special materials

20-H



ik ypress [[f Miscellareous } mmimm

BOXG-BS-70 Box O-ring NBR 70 shore - British
standard

ASTM D-2000 SAE J200

30 Sizes = 382 PIECES

Part
Part Numbers
——- Numbers

_-
8-2012 6,46 1,78 8-4081 20,22 27,28 3,53

8-102 3,68 7,24 1,78 20 8-4087 21,82 28,88 3,53 10
8-103 4,48 8,04 1,78 20 8-4083 23,39 30,45 3,53 10
8-2021 5,28 8,84 1,78 20 8-4100 24,99 32,05 3,53 10
8-105 6,07 9,63 1,78 20 8-4106 26,57 33,63 3,53 10
8-107 7,65 11,21 1,78 20 8-4112 28,17 35,23 3,53 10
8-110 9,25 12,81 1,78 20 8-29.74X3.53 29,74 36,8 3,53 10
8-3037 9,19 14,43 2,62 13 8-4125 31,34 38,4 3,53 10
8-113 10,77 16,01 2,62 13 8-4131 32,92 39,98 3,53 10
8-3050 12,37 17,61 2,62 13 8-4137 34,52 41,58 3,53 10
8-118 13,94 19,18 2,62 13 8-4143 36,09 43,15 3,53 10
8-3062 15,54 20,78 2,62 13 8-37.69X3.53 37,69 44,75 3,53 10
8-3068 17,12 22,36 2,62 13 8-6150 37,47 48,13 5,33 7
8-124 18,72 23,96 2,62 13 8-6162 40,64 51,3 5,33 7
8-4075 18,64 25,7 3,53 10 8-6175 43,82 54,48 5,33 7

BOXH-MS-70  Box O-ring NBR 70 shore - Metric AR E S

standard L R W

L

eess
ASTM D-2000 SAE J200 e Q g..

30 Sizes = 404 PIECES ......
Nt part
e o S o o e
8-3X2 3 2 8-20X3
8-4X2 4 8 2 1 8 8-22X3 22 28 3 12
8-5X2 5 9 2 18 8-24X3 24 30 3 12
8-6X2 6 10 2 18 8-25X3 25 31 3 12
8-7X2 7 11 2 17 8-27X3 27 33 3 12
8-8X2 8 12 2 17 8-28X3 28 34 3 12
8-10X2 10 14 2 17 8-30X3 30 36 3 12
8-10X2.5 10 15 2,5 14 8-32X3 32 38 3 12
8-11X2.5 11 16 2,5 14 8-33X3 33 39 3 12
8-12X2.5 12 17 25 14 8-35X3 35 41 3 12
8-14X2.5 14 19 2,5 14 8-36X3 36 42 3 12
8-16X2.5 16 21 2,5 14 8-38X3 38 44 3 12
8-17X2.5 17 22 2,5 14 8-38X4 38 46 4 9
8-19X2.5 19 24 25 14 8-42X4 42 49 4 9
8-19X3 19 25 3 12 8-45X4 45 52 4 9

21-H



BOXBG Ha6op ABYXKOMNOHEHTHbIX YNNAOTHUTENbHbLIX Koney BSP

BSP - Self-centering bonded seal kit

ds
d4

Komnnekt OBYXKOMMNOHEHTHbIX KOJ1eL, BKIo4aeT:

The self-centering Bonded Seal Kit BOXBG includes:

Code

RBGA-02
RBGA-04
RBGA-06
RBGA-08
RBGA-12
RBGA-16

BOMDED SEALS KIT

F
=
:
=

Q.ty
D | op [ d4]d5] s | nr|

10,37 15,88 11,84 826 2,00 100
13,74 20,57 15,21 11,18 2,00 100
17,28 23,80 18,75 14,76 2,00 100
21,54 28,58 23,01 18,24 2,47 100
27,05 34,93 28,53 23,83 247 50
33,89 42,80 36,88 29,92 3,40 50

22 -H



